TSG RAN WG4 AH02
                     
              TSG R4rrm03
18-19 November 1999

Helsinki, Finland



Agenda Item:

1.1

Source: 
         Telia AB

Title: 

Updating 25.133 v2.1.0 “Requirements for Support of RRM”: 



RRC Connection Re-establishment Procedure
Document for:
         Discussion & Decision

1. Introduction

25.133 v2.1.0 “Requirements for Support of RRM” has been updated from agreed inputs at RAN/WG4 #8. RRC connection re-establishment is shown by the revision marks as attached. 

2. background 

Telia has earlier put requirements on handover delay times based on cell overlap constraints to the RTT concept evaluation as well as to the ETSI/SMG2 as CRs 05.08, see R4-99468 & R4-99712. 

RRC connection re-establishment is one escape mechanism to avoid “dead zones” created by BS_ACLR from competing networks or UE receiever intermodulation by uncoordinated BS siting.

3. SUGGESTION     

A requirement for RRC connection re-establishment procedure can be specified similar to the GSM 05.08 test case with HO measurement reporting delay using >6 cells active and measureble based on earlier read neighbour list information. This re-establishment test should instead use strongest cell to disappear. RRC connection re-establishment procedure delay should not exceed 5 seconds to any carrier frequency to avoid dropped call as defined in UTRA RTT Annex C §13.2.3.7 “Performance Measures: A speech user is dropped if BER > 10-3 during 5 s”.  

4.  Observation

RRC connection re-establishment should also include 2G (GSM): delay not exceeding 5 seconds.
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5. 6

RRC Connection Control

[Editor’s Note: This Section specifies triggering requirements on the RRC Connection re-establishment Procedure]

RRC connection re-establishment procedure delay shall not exceed [5] seconds based on earlier read neighbour list information under the following network conditions: Target cell at 
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ˆ

= -70 dBm/3.84MHz, with 6 neighbours at 
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= -75 dBm/3.84MHz. Then the old serving cell is switched off at 
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= -60 dBm/3.84MHz, all steady signals.
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